A Ao 22 S0 SEM BR AT ((— )

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

& «

STl gt

BE ANBAEE B 2REANKAHK3 -

W R R B o

RHEET HRRHEEZ o

Super short form, light weight large Through-Hole, just as 2/3 of
typical model length.

Built-in safety check valves and pressure relief valves.

Can screw it from the rear end of the cylinder when mounting.

B EA|E 5 FH Patent numbers:
£ ¥ : PAT.NO.M491534(Taiwan)
A & : PAT.NO.ZL201420584274.5(China)

3~Mounting Hole

WA BRI B, 6-X2 o5l P ﬁ 6-L1
N1 = 4
=Z=8 -
/ 1% 1 iy /\J
a T, | /Tﬂ‘ﬂ=(
o < o3 & N3} | N2 ‘@E _
a -r ? | H|® le) O —+ | wl o] O m
% =) M3 | M2
T
4
2-03 o ’ Mt
Pressure Port #4354l =
=R~
alls L
RC1”
Drain Port %7, ¥ i =
— J
033
REBRIBIELHER)
Subject to technical changes
11T #34& SPECIFICATIONS
A A SEZEHETE Eff. piston area 72 B mEEE =aFERRA I 58 R RE
;j!i B (Extend) FI (Retract) Piston stroke Max. speed Max. pressure | Moment of inertia | Weight Total oil leakage
A Model
e cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
L TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
i
il
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 11.7 3.9
TK-1068 165.9 149.9 25 5500 4.5 (45) 0.065 17.8 4.2
TK-A1075 170.0 155.0 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 170.1 155.3 25 5500 4.5 (45) 0.065 17.4 4.2

59 AUTOGRIP




H:
i
frH

4

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE HBrE S R

A T« EervzEmaEd )

SMUR ) DIMENSIONS

A E G1 G2
Model AR B C D F H J K L L1 L2 M1 M2 M3
: DI h7 max. | min. | max. | min.

TK-A528 105 141 125 125|110 45 12 0 38 26 49 | 77.5 123 6~M8x20 M8x55 14 M38x1.5 25 13

TK-A533 105|141 125|125 110 45 12 | O 38 26 49 | 77.5 123 | 6®"M10x20 = M8x55 14 M38x1.5 25 13

TK-C643 128 156 140 140120 65 15 O | 44 | 29 56 | 85 125 12~¥M10x20 M8x60 12 M50x2 25 13

TK-A646 128 162 147 147130 65 15 O | 44 | 29 56 | 85 | 125 12¥M10x20 M8x60 12 M55x2 25 13

TK-B646 128 1162 130 147100 65 15 O | 44 | 29 66 | 95 135 12¥M10x20 M8x70 12 M55x2 30 15

TK-C646 125 156 140 140120 65 15 O | 44 | 29 56 | 85 125 12¥M10x20 M8x60 12 M55x2 25 13

TK-B846 145 185 170 165|130 70 20 O | 48 | 28 66 | 95 135 12¥M10x20, M8x70 12 M55x2 30 15

TK-A853 145185170 | 165 140 70 20 | O 48 28 66 95 135 12¥M10x20 M8x70 12 M60x2 30 15

TK-B853 145 185 170 165|130 70 20 O | 48 | 28 66 | 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-1068 170 ' 212 190 190|160 98 25 O | 50 25 73 | 107 157 12~M10x20 M10x80 | 17 M75x2 35 15

TK-A1075 170212 190 190 160 95 25| O ' 50 25 74 108 158 12~M10x20 M10x80 @ 16 M85x2 35 15

TK-A1078 170|212 190 190 160 95 25 | O | 50 25 | 74 108 158 12¥M10x20 M10x80 @ 16 M87x2 35 15

01 02 R 5!
Model N1 N2 | N3 P Ql Q@ Q3 T u vV wi W2 X1 X2 Y1l Y2 Z
H8 « H8 g7 H7

TK-A528 M39x1.5 25 | 8 | 35 28 79 85 30  RC1/4 | 37 62 70 | 98 6| 62 | 110 49 M6x6 83 | M5x6 5

TK-A533 M39x1.5 25| 8 | 35 33 79 85 30  RC1/4 | 37 62 |70 | 98 ' 6| 62 | 110 | 49 M6x6 83 | M5x6 5

TK-C643 M52x1.5 29 | 9 | 45 43 87 85 36  RC3/8 | 50 76 18 | 116 6| 74 120 64 M6x6 98 | M5x6 5

TK-A646 M52x1.5| 29 50 | 46 87 85 36  RC3/8 | 50 76 | 8 116 |6 74 120 | 64 M6x6 98 M5x6 5

TK-B646 M52x1.5| 29 50 | 46 97 85 36 RC3/8 | 50 76 | 85 | 116 74 | 120 64 M6x6 98 H M5x6 5

74 | 120 64 M6x6 | 98 H M5x6 5

9
9

TK-C646 M52x1.5 29 9 50 46 87 85 36 RC3/8 50 76 | 85 | 116
8

TK-B846 M58x1.5 30 50 | 46 97 85 36 RC3/8 | 56 85 |96 128 |7 79 130 73  Méx7 110 Mex6 5

TK-A853 M58x1.5 30 | 8 | 55 | 53 97 85 36  RC3/8 56 85 96 128 |7 79 130 73 | Mé6x7 110 Mex6 5

TK-B853 M58x1.5 30 | 8 | 55 | 53 97 85 36  RC3/8 | 56 85 96 128 |7 79 130 73  Méx7 110 Méx6 5

TK-1068 M84x2 33 9 |70 68 109 12 40 RC1/2 | 81 108 121|164 7 98 | 160 98 M6x8 155 M6X8 5

TK-A1075 M84x2 33 | 9 |8 75110 12 40 RC1/2 | 81 108 121|164 7 98 | 160 98 M6x8 155 M6X8 5

TK-A1078 M84x2 33 9 |82 78 110 12 40 RC1/2 | 81 108 121|164 7 98 | 160 98 M6x8 155 M6X8 5

=
H
&
@
=
i

AUTOGRIP 60



& 1«

A Ao 22 S0 SR ERET ()

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

STl gt

of typical model length.

E A E 5 F % Patent numbers :

4 ¥ : PATNO.M491534(Taiwan)
A [% : PAT.NO.ZL201420584274.5(China)

BE ANBAEE B 2REANKAHK3 -
W R R B o
RHEET HRRHEEZ o
Super short form, light weight large Through-Hole, just as 2/3

Built-in safety check valves and pressure relief valves.
Can screw it from the rear end of the cylinder when mounting.

3~Mounting Hole Q1
Wi | RIS AL 6~X2 2.5
N1 =
1%s —
LA
| . C e
- N3 | [N2 i
S - CE | - ||y *—JF:—J ‘éﬁzﬁ Ol m
e} 3 © 50
&
2~Q3
Pressure Port g L
“ameL 4
4~Y2 |
Rc1” \i i i\ J_I——‘_I_—LL V \i i\
Drain Port ¥5H7L 7 || 1 | 2 G2 \Eﬂ\ N L
T T T T
== . =
RBIVNEEBEIMF Dr ‘
Subject to t‘echmcalch‘anges 033 Al Bl K
T
¥ 1ili#R31& SPECIFICATIONS
BUSR JEEEETE Eff. piston area 72 RelEY R EAEN | = RBRE
Vodel B4 (Extend) HI (Retract) Piston stroke Max. speed Max. pressure | Moment of inertia | Weight | Total oil leakage
oce cm? cm? mm min™(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
e TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
@—
H TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
BR
;:E TK-2114 373.2 336.1 35 2500 3.0(30) 0.54 58.2 8.0
i SNEUR T DIMENSIONS
& A E 61 G2
Model AL B C D F . . H J K L L1 L2 M1 M2 M3 N1
ID. h7 max.  min.  max. | min.
TK-A1287 200 245215 225 180 110/ 30 0 59 29 86 @ 126 | 184 12~M12x24 M10x90 '14.5 M95x2 35 15 M99x2
TK-A1291 200 245 215 225 180 110/ 30 0 59 29 86 @ 126 | 184 12~M12x24 M10x90 '14.5 M100x2 35 15 M99x2
TK-A1511 | 250 300|275 275 230 140 30 O 58 28 | 102 156 226 12~M16x36 M12x110 @21 A M120x2 | 45 15| M129x2
TK-A1512 | 250 | 300|275 275 230 140 30 O 58 28 | 102 156 226 12~M16x36 M12x110 @ 21 A M130x2 | 45 15| M129x2
TK-2114 265|320 295 295 240|165 35 0 60 25 115 |173.5247.5 12~M16x32 M12x120 17.5 M155x2 | 45 20 M149x2
01 02 R S
Model N2 | N3 P Ql | Q2 Q3 T U ) W1 W2 X1 X2 Y1 Y2 z
H8 | H8 g7 H7
TK-A1287 38| 9 90 87 | 127.5 15 45 RC1/2 96 @ 120 | 138 180 7 | 110 185 108 M6x10 165 M6x10 @ 5
TK-A1291 38| 9 95 91 | 127.5 15 45 RC1/2 96 120 | 138 180 7 110 185 108 M6x10 165 M6x10 @ 5
TK-A1511 38 9 | 115|110 153.75 17 50  RC1/2 | 126 150 170 227 7 | 134 210 | 138  M6x10 210 | M6x9 6
TK-A1512 38 9 | 125 120 153.75 17 50 | RC1/2 | 126 A 150 170 227 7 134 210 | 138 M6x10 210 M6x9 6
TK-2114 38 9 145 140 170 17 /50 RC1/2 146 170 190 K 250 | 7 145 210 160 M6x10 230 M6x10 6

61 AUTOGRIP



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE B eRKEsR

’ TK A AN O 22 JE BB E] (= )

o 2FEARF RIGCAEHE i Ba o

o WEMLWEHEMBERESRER -

e New design, short form, light weight large through-hole.
e Built-in safety check valves and pressure relief valves.
B EAE & FY Patent numbers:

£ ¥ : PAT.NO.M491534(Taiwan)
K [ : PAT.NO.ZL201420584274.5(China)

6~X2 Ei Q1 P 6~L
& I - - 0:‘)3 Hlo|lc O|lm
2~Q3
Pressure Port #35H7L
o
=
RC1” of
Drain Port J8#, ¢ L G2 ; J
033 (TK-2820:239) | | =—== T K
y Dr
RBREERETR
Subject to t‘echnicaihanges A‘ T B —
¥ fli#31& SPECIFICATIONS
Eith JEZEHETX Eff. piston area 1772 BB EaEAR I B8 BERE
B (Extend) HI (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight | Total oil leakage
Model
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TK-2416 418.4 375.4 35 2000 3.0 (30) 1.12 78.0 9.0
TK-2416L 418.4 375.4 51 2000 3.0(30) 1.31 79.2 9.0
TK-2820 526.2 472.6 51 1600 3.0(30) 2.4 134.0 10.0
SNEUR~T DIMENSIONS
A E G1 G2
Model A B C F . . H J K L M1 M2 | M3 N1 N2
h7 max. = min. | max. min.

1.D.

TK-2416 290 340 300 260 | 190 35 O | 60 | 25 129 | 1855 | 275 | M16x32 M180x3 45 20 | M174x2 @ 38

TK-2416L 290 340|300 260 190 | 51 | O 76 25 145 | 2015 | 291 | M16x32 | M180x3 | 45 20 M174x2 @ 52

TK-2820 340 395|360 320 235 |51 | 0 76 25 152 | 2125 | 316 | M20x40 | M220x3 | 45 20 M218x2 = 52

01 02 R S
Model P Ql Q2 Q3 T u \Y w1 w2 X1 X2 Y1l Y2 z
H8 H8 g7 H7

TK-2416 170 | 166 1865 | 20 = 50 ' RC1/2 171 A 202 220 292 |7 167 | 250 | 188 Me6x11 | 260 = M6x12 5

TK-2416L 170 = 166 2025 20 | 50 RC1/2 171 202 220 292 | 7 167 250 188 | M6x11 260 M6x12 6

TK-2820 210 | 205 | 216 | 21 | 50 RC1/2 215 262 285 360 | 7 | 202.5 | 300 | 240 = M6x12 @ 320 M6x12 6

AUTOGRIP 62



	WM_TK（一）
	WM_TK（二）
	WM_TK（三）

